Name ____________________________________________________

Quiz #2, Math 116, Spring 2007

1. For the weighted voting system [q: 7, 6, 5, 5, 5, 4, 4], what is the smallest value the quota can have?  What is the largest?

Smallest q=19
Largest q=36
2. In the weighted voting system [q: 6, 5, 3, 3], determine the quota that would give P1 the veto (and no one else).

Q=12
3. For the weighted voting system [7: 4, 4, 3, 1], list the winning coalitions, determine the critical players in each, and then calculate the Banzhaf power distribution for the system.

{P1,P2,P3,P4}, {P1,P2,P3}, {P1,P2,P4}, {P1,P3,P4}, {P2,P3,P4}, {P1,P2}, {P1,P3}, {P2,P3}.
P1=4/12=1/3
P2=4/12=1/3
P3=4/12=1/3
P4=0 -- dummy
4. How many sequential coalitions are needed to determine the Shapley-Shubik power distribution for the weighted voting system [q: 7, 6, 6, 5, 3]?  Do NOT list them.
5!=120

